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(mm) 27 34 16 16
WEB 2000 2000 2000 2000
(mm) 10 10 10 10
L-FLG 600 600 600 600
(mm) 32 34 29 31
SMA490W SMA490W SMA490W SMA490W
8104 9637 8713 10122
(KN m,kN) 517 224 494 227
- - 4.3 < 8.6 5.0 < 8.6
U-FLG 204 < 210 204 < 210 199 < 241 224 < 241
(N/mm?) WEB 26 < 120 11 < 120 25 < 120 11 < 120
L-FLG 201 < 210 204 < 210 200 < 210 205 < 210
0.9 < 1.2 0.9 < 1.2 0.8 < 1.2 0.9 < 1.2
- - 2800 2800
(mm) 240 240 240 240
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(mm) 24 28 16 16
WEB 2000 2000 2000 2000
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(N/mm?) WEB 24 < 120 16 < 120 24 < 120 13 < 120
L-FLG 198 < 210 203 < 210 204 < 210 203 < 210
0.9 < 1.2 0.9 < 1.2 0.7 < 1.2 0.9 < 1.2
ton 84.2 1.00 68.2 0.81
92,684 1.00 82,370 0.89
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><1.00/0.25)/375.1=6.3
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